Alkylation is the transfer of an alkyl group from one molecule to another. The alkyl
group may be transferred as an alkyl carbocation, a free radical, a carbanion or
a carbene (or their equivalents). So alkylated carbon is one of the all carbons from

that “another” molecule.

CH
[AICI] 3
+ HyC—Cl - + HCI

As can you see, one of the benzene’s atoms was alkylated in the reaction below.

CH(CH3z): CH(CH3)2

CHz

| FeBr3
+ CH—Br

| - HBr

CH4

CH(CH3)2
25% 15%

Degree of alkylation of atom can be found from yield of reaction.
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